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= — Area of a circle with radius ‘r’ 1s: =
E 27T T > E 3?[?‘!:‘41%/')@-01 - E
= 2 Area of a semi-circle is: =
E (* ( 3L (2 QM‘E%)\ ':«"f'lzb@u)({&,)(_gf ] g
= — R@l e of a cube with edge '/ E
= 2 2 ) =
E i’JI:I‘2 wr’h mr”h Tg \%\ e U ﬁi?gﬂd;/bd}}fugf 0 g
= 3 2 ) 2 < Volume of a right circular cylinder is: =
= ()~ " - =
| i 8 | e v e | %
= . — (Jp b . e surface inside the boundary of a shape | sz | 2
: Quadrilateral Square ) %{@\.f Perimeter 1 i, :
= Pedede et =
E & a4 b 9 - g
= JJU(J/{,@GU,@’ .10.,4 :
= - o -
(& 025
E D C B A Questions | <Ui» A g
= . LB LA . . :
= L sl . 2 e K Lot b d =0, %) + (T2 —3) :
= on- ; . : 1 =
= Equal collinear Collinear Distance > - | =
= Points . Points Formula d= \/ (X, =%,)" +(y, —y,)" 1s called: =
= Points =
- 3T iy e L o _:‘%t’é Bt gé_—iﬁe-fl"/'" J/; Z—ﬁ’v_&/' Uit U* 1 , g
= Ol Wissehns P et point in a :ilrtesmn plane determines a unique :
= ordered pair of: =
%IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIlIIIII]IIIIIIIIlIllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIlIIIIIIIIIIIIIIIIIIIIIII'-;:
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: : : 55 2 L) : <
b e by P :ﬂj/bg :é.t'ﬁ.a*c,é.jﬁg'}'ﬁjdfh{:l 3
Four points | Two points Zero ;élilr?tue In the plane with every ordered pair 1s associated:
5 Jaln b3 J;ﬂ/! w,?d"_ﬂ..;ﬂ@&ﬁébéb(ﬁug 4
: ; on- : : :
Overlapping Equal Collinear collinear Points lying on the same line are called:
P " 3 WA S W Ut G 2bE
b/ ¢ e
. Non- Points which do not lie on the same straight line S
Zero Equal Collinear .
collinear | are called:
0713 @J L> Sy :l:‘yz‘uf}u:d)/ﬂu?)&;)f 6
Circle Quadrant Line Plane Point on the axis do not lie in any:
(0,1) (0,0) (1,0) 0 UL Liar | 4
The co-ordinates of the origin are:
A = 2350 . :‘;;.3:4(,? S > & 8
Fraction Value Ordinate Abscissa | Points on the negative x-axis have negative:
1 /w d" = :‘:;.JKJJ:/;:LTLJJ&M:&&% 0
Zero Negative Positive A point in 4™ quadrat has its ordinate:
. 2 ’ " & . * B
uﬂquﬂ = s i . v Lu"fq.;.dﬁwryﬁd/ﬁ@bufd;#
Positive and i = P & e O . | | 10
: . — A point st quadrant 1s characterized by the
negative Negative Positive Zero : ; _
fact that-both its co-ordinates are:
both ALY
G
o
&
O
¢
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